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What we are told:

· [image: ]Each letter represents a digit (0–9). 
· The letter ‘O’ is zero.

What to do:

1. Write out this sum. 

2. Work out which digit each letter represents.

3. Make a list of the letters so that you can match digits to them.

4. When you have found a solution – check it works!

5. Use this solution to find a different one where both T and G are two different digits, so they have not just swapped!

6. Can you find more than six different solutions?


Challenge

Can you invent your own similar puzzle? 
(This is harder than you’d think!)


1[image: ]Pearson and the Hamilton Trust are not responsible for the quality, accuracy or fitness for purpose of the materials contained in the Word files once edited. 
To revert to the original Word files, re-download them from ActiveLearn Primary.
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